
円周と円の面積 3.14がある計算3

3.14がある計算３ 目標時間

名前

□次の計算をくふうしてしましょう

① × ×

＝ （ 11 ＋ ）×

② × ＋ ×

③ × － ×

④ × 18 × × 10 ×

⑤ × 7 × × 6 ×

⑥ × 19 × × 17 ×

＝

15 3.14

3.14

3.147 3.14 － 6

18 3.14 ＋ 10

5 3.14

11 3.14 ＋ 10

10 3.14

3.14

NO.1

10分

／６

4 3.14

2 3.14

3.1419 3.14 － 17

無料で使える学習ドリル
http://drill.para-gallery.com/ 1



円周と円の面積 3.14がある計算3

答え

① ×

② ×

③ ×

④

⑤ ×

⑥ ×

59.66

9.42

1331.36

40.82

226.08

 

21 ＝3.14

3.14

3 ＝

＝19 3.14

3.14

＝

 

3.1413

＝

 

3.1472

65.94

424 ×

 

＝
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1

0.725 4 11

0.3694 5 18

0.0292 6 15

0.6121 7 8

0.2797 8 5

0.6362 9 7

0.868 10 9

0.1925 11 4

0.114 12 19

0.1062 13 10

0.0034 14

0.2554 15

0.0883 16

0.0103 17

0.2206 18

0.8679 19

0.4472 20

0.7803 21

0.2916 22

0.9089 23

0.8492 24

0.7859 25
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0.5364 26
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